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� ��)��� -�������&�� ���� �% *������ 0��&������ ��.���, ���������
*���*���0����� 7�%��� 8 ����0��8��%������� *���� � ��� -��*������
�&, ��������� *���&� ���*�0������ -��� ��-�&��� 0��&����� ���&�%
�5���*���� ,���� ����0��8��%������� �5�*� ��0��&���� � *����� -�8
��*����5 ��-���&����# ���4� ���&������� H77���������/ � ��������8
�� �����5 �5�* ��������&��� -�&�0����� ��%�&/���� ���&�������,
��-&���5 -��'����� � ����&� -�� �)&�0���� ����*� ����� � H�������
<== 1H� � �0���* -����� H������ �� 7������� ��&�)���, �'�����
��%*��� �)&����� � *�.���# ��� ��*-������� -����.��� ��*-�������
-&��&���, *������&� *�.��� � *���� -����5����/ 7�%���� -���5��� 
���&�� ��������&/��� ���&�% � *���&/K# �� �0�����KI�� H�������8
0����� -����� �,4�&��� ���� �� 7������� ��&�)���, 

iN RSO PTWx TNO TV RSO QORSTUX TV N_QOW[F^Y XTY_R[TN TV RSO Od_^R[TNX TV
Q^RSOQ^R[F^Y aS`X[FX 8RSO gN[RO8U[�OWONFO QORSTU ^NU [RX ^aaY[F^R[TN VTW
RSO Od_^R[TNX TV RSOWQ^Y Xa[xO QTUOY S^X bOON aWOXONROU eSO N_QOW[F^Y
^N^Y`X[X TV FTNZOW\ONFO TV ^N OsaY[F[R gN[RO8U[�OWONFO FTQa_R^R[TN^Y XFSOQO
^NU ^YROWN^R[N\ U[WOFR[TN QORSTU [X F^WW[OU T_R# ^NU ^YXT RSO O�F[ONF`
^NU UOgF[ONF[OX TV RSOXO XFSOQOX ^WO OsaYTWOU eSO TbR^[NOU WOX_YRX TV
[NZOXR[\^R[TN TV RSOWQ^Y aWTFOXXOX [N N[FxOY ^R [WW^U[^R[TN b` _W^N[_Q [TNX
TV P[RS RSO ONOW\` <== uOw P[RS FTNX[UOW^R[TN TV aTPOW YTXXOX TN aSTNTN
TXF[YY^R[TNX ^WO WOaWOXONROU eSO X[jOX TV ^WO^X [N RSO R^W\OR# PSOWO ROQaO8
W^R_WO OsFOOUX RSO QOYR[N\ aT[NR TV ^ Q^ROW[^Y TV RSO R^W\OR ^NU aS^XO
FS^N\OX F^N R^xO aY^FO# RSO ^WO OXR[Q^ROU M FTQa^W^R[ZO ^N^Y`X[X P[RS RSO
QTUOY RS^R UTOX NTR R^xO [NRT ^FFT_NR RSO ONOW\` YTXXOX TV ^ SO^Z` [TN TN
aSTNTN TXF[YY^R[TNX [X Q^UO 

�#%&�$�� '#($)* 0��&����� *�����# ,���, ����0��8��%������, �5�8
*�# *���� -���*����5 ��-���&����# ��-&�-���������/# ��0�&/��� �
�����0��� ��&���,# *���&/ ���*�0������ -��� 
+,-./012* N_QOW[F^Y QORSTUX# OsaY[F[R gN[RO8U[�OWONFO XFSOQO# ^YROWN^8
R[N\ U[WOFR[TN QORSTU# RSOWQ^Y FTNU_FR[Z[R #̀ [N[R[^Y ^NU bT_NU^W` FTNU[8
R[TNX# RSOWQ^Y a[xO QTUOY 
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� -��&����� ���� � ��%�����KI�* ��������* -�����,��, H��-���*����&/���
���&�������, �&, �%�0���, ��%�������� �,4�&�5 %��,4����5 0����' �� *�����8
�&� � ����* ���&�������,* ��������,# � 0��������# �%�0���� ���)�������� ��8
���'������� ���-�&���, � �%*�����, *�5���0����5 ������� *������&�� -�� �)8
&�0���� �5 �,4�&�*� ����*� ������5 H������ ���� �% *���&��# �-�����KI�,
��-&���� -��'���� -�� ��%�������� �,4�&�5 %��,4����5 0����' �� *������&�#
H�� *���&/ ���*�0������ -��� 8 �����*� ��������� ��-&�-���������� �&, H&��8
�������� ��%� � ��.���� k;# C# ?# A# Dl ��� -��5�4����� �,4�&�5 %��,4����5
0����' 0���% ��I����� ���,�*�, 0����'�� H�����,# � �������*# ���5������, -��
��-������������* �%��*��������� � ����*� ��.���� !,������ ���&�������," �
-���* �%��*��������, � H&�������*� !����%�'�,# -�&,��%�'�," ��� H��* �� �%�8
�*��������� � H&�������*� ���5������, )�&/.�, 0���/ H������ 0����' !∼ 90% �
)�&��" ��*-/K�����, -�����**� y|iu8C==? kEl -�%��&,�� ��0��&,�/ -����� H���8
��� �,4�&�5 �����# ������� %����0���K��, �� �������� -��'����# ��%����*��
�,4�&�* ����* -�� ��� -��5�4����� 0���% ���������������� �����# � �*����@

;" �� ���-����� -��'���� -����� H������@

Sinel(z) ≡
(
−∂E
∂z

(z)
)

inel

C" �� -����� H������ � ���� 7������5 ��%)�4�����@

Sphonon(z) ≡
(
−∂E
∂z

(z)
)

phonon

��� �)&�0���� ����&, ����*� ����� � H������� <== 1H� -����� H������ �&�8
��KI�� !y|iu8C==? kEl"@

Einel =

Zmax∫
0

Sinel(z)dz ≈ 690 1H�(98, 48%),

Ephonon =

Zmax∫
0

Sphonon(z)dz ≈ 10 1H�(1, 52%).

����* �% H77�������5 0��&����5 *������ ��.���, ��������� *���*���0�8
���� 7�%��� ��%����KI�5 �&, ��.� ���%����5 %���0# ,�&,K��, ����0��8��%���8
���� *����� k<# B# G# ;=l 

� kCl -��*����� *���&/ ���*�0������ -��� �&, ���&�������, ��-&���5 -��'��8
��� � ����&� -�� �)&�0���� ����*� ����� ������5 H������ )�% �0��� H�������0�8
���5 -����/ �� ��%)�4����� 7������5 ��&�)���� 

:�&/K �����,I�� ��)��� ,�&,���,@
�" ���&�������� �5���*���� � H77���������� ����0��8��%������5 �5�* �&,

��������� *���&� ���*�0������ -���m
)" -��*������ *���&� ���*�0������ -��� �&, ���&�������, ��-&���5 -��'��8

��� � ����&� � -����,���*� ��-&�7�%�0����*� -���*����*� -�� �)&�0���� ����8
*� ����� � H������� <== 1H� � �0���* -����� H������ �� 7������� ��&�)���, 
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� �0���* �����&/��� ��**����� �����*� ��������� �&, �-����&���, ��.���08
��� � H&��������� ��*-������ � '�&�����0����� �����*� ��������� *�4�� )��/
%�-����� � ���� kCl@

Ce(Te)
∂Te

∂t
=

1
r

∂

∂r

(
rλe(Te)

∂Te

∂r

)
+
∂

∂z

(
λe(Te)

∂Te

∂z

)
−g(Te)(Te−Ti)+A(r, z, t), !;"

C(Ti)
∂T

∂t
=

1
r

∂

∂r

(
rλ

‖
i (Ti)

∂Ti

∂r

)
+
∂

∂z

(
λ⊥i (Ti)

∂Ti

∂z

)
+ g(Te)(Te −Ti)+Ai(r, z, t). !C"

��/ j ��-���&��� -��-������&,��� �)&�0��*�� -����5����� *�.���# � � -� ��8
-���&���K ���4���, �,4�&��� ���� ����%�����, -� ��&� ����������� ����� '�8
&�����0����� ��**����� ���&/��5 ����%�'�����5 -����/ �,4�&��� ���� +���/
Te(r, z, t) � Ti(r, z, t) 8 ��*-������� H&�������� � ��.����# Ce(Te)# Ci(Ti) � λe(Te)#
λi(Ti) 8 �������������� ���&/��� ��-&��*����� � ��-&�-���������� H&�������� �
��.����# %����,I�� �� ��*-������� ��*��&� �⊥� � �‖� �%��0�K�# 0�� ��-&�8
-���������/ �&, *���������&&�� ������ %������ �� ��-���&���,# � ��� �������8
����K� ��-���&���,* ���&/ � -��-������&,��� � -����5����� g 8 ��H77�'����#
5��������%�KI�� �%��*��������� H&��������� -�������*� � ��.����� !� �)I�*
�&�0�� %����,I�� �� ��*-������� H&���������� ��%�" Ae(r, z, t) � Ai(r, z, t) 8 ��8
��0��� H������# �����*�� ��&���KI�* ����* ����� � H&��������K � ��.���0��K
-�������*� ��������������# �*��� �&���KI�� ��� k;;l@

Ae(r, z, t) = beSinel0 exp
(
− (t− te0)2

2σ2
et

)
exp
(
− r

re0

)
μe(z).

Ai(r, z, t) = biSphonon0 exp
(
− (t− ti0)2

2σ2
it

)
exp
(
− r

ri0

)
μi(z).

Sinel(z) = Sinel0μe(z) � Sphonon(z) = Sphonon0μi(z) 8 H�������0����� -����� �,4�8
&��� ���� �� ����%�'�K � �� ��%)�4����� 7������5 ��&�)���� !��� ;" ���*,
�����4���, H&�������*� ������������ ���-����&���, !� � ���*, ���)������ -��8
)��� δ 8 H&�������� �� ������� H������� εe " te,i,0 ≈ (1 − 5) · 10−15c# -�&�.�����
���-����&���, -� ���*��� t -���,�� ������ σe,i,t = te,i,0 k;;l �������/ H��-����8
'��&/���� �-��� k;Cl# �&� -��������������, .����� ��������%)�4������ �)&����
k;?l r0 ≤ 2, 5�* !���&���� �����* ��)��� k;Cl " � r0 ≈ 1�* !�* k;Al " 

���*���KI�� *��4���&/ be,i �-����&,���, �% ��&���, ���*������@

∞∫
0

dt

rm∫
0

2πrAe,i(r, z, t)dr = Sinel,phonon(z) = Sinel,phonon(0)μe,i(z).

%���/ rm 8 *����*�&/��� -��)�� δ8 H&��������# %����,I�� �� *����*�&/��� H���8
��� εe# -��������*�� ����&/��*� H&������� k;?# ;Al �����*� !;"8!C" ��.����, ��
�&���KI�*� ��0�&/��*� � �����0��*� ��&���,*�@

Te,i(r, z, 0) = T0 = 300 K, !?"
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 ��� �! 4�����)���* ����*��� ������������� �����* 5���
�� Sinel(z) � ������ 5���
��
�� �����2����� &������� ��������( Sphonon(z) ����� ����� � 5���
��( 6�� 75- ��

������ � ������ +���
��))� 89:;'���	<=>,�

∂Te,i(r, z, t)
∂r

∣∣∣∣
r=0

= 0,
∂Te,i(r, z, t)

∂z

∣∣∣∣
z=0

= 0,

Te,i(Rmax, z, t) = Te,i(r, Zmax, t) = T0. !A"

+���/ � ��&�� Rmax 8 ������ ���&���, �� ���������� ����# � Zmax 8 �&�)���#
-����.�KI�, �&��� -����������� -��)��� ����# -�� ������5 ��.���� *�4��
�0����/ ����%*�I�����# � �� ��*-������� -�� r > Rmax � z > Zmax ������ T0 
��* ��*�* ��0�&/��� � �����0��� ��&���, �%��0�K�# 0�� � ��0�&/��� *�*���
���*��� H&��������, � �����, -�������*� �*�K� ��*-�������# �����K ��*���8
���# � �����'� z = 0 ��-&��%�&������� ���*� ����# ��*-������� H&����������
��%� � ��.���� �� )�&/.�* ������,��� �� ���������� ���� ���4� ����� ��*���8
��� ��*-������� 

��� ��.���� �����*� ��������� !;"8!C" '�&����)��%�� ������ )�%��%*�����
-���*�����# � �*����@ T e = Te/T0# T i = Ti/T0# r = r/Δr# z = z/Δz# t = t/Δt# ���
Δr# Δz � Δt 8 �����'� �%*�����, ������,��, � ���*��� L�� �����'� ��)����
� ���� Δt = α1t0 � Δr = Δz = α2r0  +���/ α1# α2 8 -���%��&/��� )�%��%*�����
��������� +��0���, H��5 �������� -�&�4�* �����*�@ α1 = α2 = 100  �����

�����*� ��������� !;"8!C" � �&�0��# ��&� � ������&&� ��� ���%����-�� !� � λ
‖
i =

λ⊥i = λi"# *�4�� %�-����/ � ���� !%���/ � ��&�� ���5��� %��0�� ��� )�%��%*����*�
��&�0���*� �-�I���"@

∂Te

∂t
= ke

(
1
r

∂Te

∂r
+
∂2Te

∂r2
+
∂2Te

∂z2

)
− g(Te)(Te − Ti) +Ae(r, z, t), !D"

∂Ti

∂t
= ki

(
1
r

∂Ti

∂r
+
∂2Ti

∂r2
+
∂2Ti

∂z2

)
+ g(Ti)(Te − Ti) +Ai(r, z, t), !E"

���ke,i = λe,i(T0)α1t0/(Ce,i(T0)(α2t0)2)# ge,i = g(T0)α1t0/Ce,i(T0) 
��0�&/��� � �����0��� ��&���, !?"8!A" %�-�����K��, � ����@

Te,i(r, z, 0) = 1 K, !<"
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 C;

∂Te,i(r, z, t)
∂r

∣∣∣∣
r=0

= 0,
∂Te,i(r, z, t)

∂z

∣∣∣∣
z=0

= 0,

Te,i(Rmax, z, t) = Te,i(r, Zmax, t) = 1. !B"

$�%��%*����, �)��*��, -&������/ *�I����� A(r, z, t) � ��������� !G" �-����8
&,���, ����4����*@

Ae,i(r, z, t) = A0,e,i exp(−α2r) exp
[
−α

2
1

2
(t− 0, 05)2

]
μe,i(z),

%���/ A0,e,i = be,iSinel0,phonon0α1t0/(Ce,i(T0)T0) 
9���'�, μ(z) ��0��&,���, -� -�����**� y|iu8C==? � ���� ��)&�'� !��� ;" 

��� 0��&����* *���&�������� H�� 7���'�K -���������&/�� ��&�4����* -� *�8
���� ���*��/.�5 ��������� � �����-�&����* ��)�0����* �-&����* 

��� ��*������ ��*-������� T0 = 300� ��-&�7�%�0����� -���*���� ����&,
�&���KI��@

Ce(T0) = 2, 733 · 10−2 
4

�*3 · �
, Ci(T0) = 3, 91


4

�*3 · �
, g(T0) = 4, 05 · 1012 ��

�*3 · �
,

λe(T0) = 4, 1
��

�* · �
, λi(T0) = 0, 91

��

�* · �
, Sinel(0) = 1, 157 · 10−7 
4

�*
,

Sphonon(0) = 1, 635 · 10−10 
4

�*
.


&, -���������5 ��&�0�� )�%��%*����� ��H77�'����� ke# ki# ge# gi# A0,e# A0,i#
Rmax# Zmax -����*�K� %��0���,@ ke = 0, 15m ki = 2, 33 · 10−4m ge = 14, 82m gi =
0, 1036m A0,e = 8, 97 · 106# A0,i = 88, 51# Rmax = 0, 5# Zmax = 200 

����* �)��%�*# �&, 0��&������ ��.���, �����*� ��������� !D"# !E" � ��0�&/8
��*� � �����0��*� ��&���,*� !<"# !B" ��� -���*���� �%������ 

8� ��9(3 &�'#���(E( !�;���6

�����* �����*����K ����� -� -���*����* � ��������,5 !D"# !E"# �� ���/ -�&�8
4�*@ {ri = ihr(i = 0, ..., n), zj = jhz(j = 0, ...,m), tk = kht(k = 0, ..., l)m hr# hz � ht

8 �������������� .��� -� -���*����* r# z � t �� �%)�4���� -�����'� ��������
��*-������� H&��������� -�������*� � ��.���� �)�%��0�* T � T ������������8

�� ����� %��0���, 7���'�� T � T � �%&�5 (ri, zj , tk) �)�%��0�* ��*��&�*� T
k

i,j �

T k
i,j  

4�2 5������'��
 
���
 ����$��6��
������
 �����


&, ��.���, �����*� ��������� !D"8!B" � �����* �&�0�� )���* ��-�&/%����/
�&���KI�K ���5�&����K ,���K ����0��8��%������K �5�*� -��,��� �--�����*�8
'�� O(ht + h2

r + h2
z) !��� C �" k<# B# G# ;=l@

T
k+1

i,j − T
k

i,j

ht
= ke

[
1
ihr

T
k

i+1,j − T
k

i−1,j

2hr
+
T

k

i+1,j − T
k

i,j + T
k

i−1,j

h2
r

+

+
T

k

i,j+1 − T
k

i,j + T
k

i,j−1

h2
z

]
− ge(T

k

i,j − T k
i,j) +A

k

i,j , !G"
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 ��� �! %��)���#����( ������� $���( ���)� ��#������( +�, � )����� ����)����� ��'
��������( +�,�

T k+1
i,j − T k

i,j

ht
= ki

[
1
ihr
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i+1,j − T k

i−1,j

2hr
+
T k

i+1,j − T k
i,j + T k

i−1,j

h2
r

+

+
T k

i,j+1 − T k
i,j + T

k

i,j−1

h2
z

]
+ gi(T

k

i,j − T k
i,j) +Ak

i,j , !;="

T
0

i,j = T 0
i,j = 1, !;;"

T
k

n,j = T k
n,j = 1, T

k

i,m = T k
i,m = 1,

4T
k

1,j − T
k

2,j − 3T
k

0,j

2hr
= 0,

4T
k

i,1 − T
k

i,2 − 3T
k

i,0

2hz
= 0, !;C"

4T k
1,j − T k

2,j − 3T k
0,j

2hr
= 0,

4T k
i,1 − T k

i,2 − 3T k
i,0

2hz
= 0,

i = 1, 2, ..., n− 1, j = 1, 2, ...,m− 1, k = 0, 1, 2, ..., l.

��� ��0��&���� -� ������ �5�*� .�� -� ���*��� ��)������, �% ��&���, �����8
0������ �5�*� k<# B# G# ;=l@

max(ke, ki)ht

(
1
h2

r

+
1
h2

z

)
≤ 1

2
!;?"


����, �5�*� -�%��&,�� �� ��4��* (k + 1) 8* ���*����* .��� -� �%������* %��8
0���,* ��*-������ H&�������� � ����� �� k 8* ���*����* �&�� ��5����/ �5 %��8
0���, ���0�&� �� ���5 ���������5 ��0��5 (i = 1, 2, ..., n − 1, j = 1, 2, ...,m − 1)# �
-���* �% ���������� %�-��� �����0��5 ��&���� �5 %��0���, � �����0��5 ��0��5
(i = 0, n; j = 0,m) 


&, -������� �5���*���� �5�*� !G"8!;C" -������&�, 0��&����� H��-���*���
-�� 7�����������5 .���5 hr# ht � �� ���I�KI���, ����� -� z# �� ���/ hz, hz/2#
hz/4 (hr = 10−3, hz = 2 · 10−2, ht = 3 · 10−6)  
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 C?

�������* ��%�&/���� 0��&������ H��-���*���� � ��0�� r = 0, 01# z = 25 �
*�*��� ���*��� t = 0, 5 @

Thz − Thz/2

Thz/2 − Thz/4

≈ 3, 56,
Thz − Thz/2

Thz/2 − Thz/4
≈ 3, 73.

��&�0����� ��%�&/���� -���%���K� ������ -��,��� ��0����� -� -���*�����
z ���&���0��� ��%�&/���� 0��&������ H��-���*���� *�4�� -���%��/ � -� �����*
-���*����* ����*�I����� H��� �5�*�@

;" � ���&,������ � -������� � ��-�&/%������# � � ����,�����/ �.�)�� -��
������&���� �5�*� *���*�&/��m

C" ��&�0����� ���7*���0����5 �-���'�� � ��4��* ���*����* �&�� *���*�&/8
��# -�H��*� ���/ ��%*�4����/ &���� �)�)I��/ �� � *����*����* �&�0�� 

����������* �5�*� ,�&,���, ������0���� .��� -� ���*���# � � .�� -� ���*���
��)������, �% ��&���, �����0������ !;?" � H�� � ��������5 %���0�5 -������� �
��%��*� ���4���K H77���������� �%8%� *�&���� .��� -� ���*��� 

4�4 �������'��
 ����$��6��
������
 ����� ���������� ����������'

L77�������� �5�*��# ��0���KI�� � ��)� &�0.�� ������� ��,���� �5�*� !�)8
��&K���, �����0�����/" � ,���� �5�*� !*��/.�� ��&�0����� �-���'��"# ,�&,���,
*���� -���*����5 ��-���&���� k<# B# G# ;=l@ ����� �5�*� ��%���K� H����*�0��8
*� �5�*�*� �������, �&�����*�0����, ���, �5 H����*�0����� ������� � ��*# 0��
�&, -���5��� �� �&�, k �� �&�� k+1 ���� ��.��/ *�����* -������� ���5��0�0���
��%������� ��������, ���0�&� -� r# -���* -� z ��������� ����� �5�*���0����
-�������&����, �� ��� C ) �5�*� *����� -���*����5 ��-���&���� �*��� -��,���
��0����� O(h2

t + h2
r + h2

z) 
&, �����*� !D"8!B" ���5�&����, �5�*� *����� -���*��8
��5 ��-���&���� �*��� �&���KI�� ���@
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T k+1
i,j − T

k+1/2
i,j

ht
= ki

[
1
ihr

T
k+1/2
i+1,j − T

k+1/2
i−1,j

2hr
+
T

k+1/2
i+1,j − T

k+1/2
i,j + T

k+1/2
i−1,j

h2
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+

+
T k+1

i,j+1 − T k+1
i,j + T k+1

i,j−1

h2
z

]
+ gi(T

k+1/2

i,j − T
k+1/2
i,j ) +A

k+1/2
i,j . !;<"

��0�&/��� � �����0��� ��&���, -�.���, � ����@

T
0

i,j = T 0
i,j = 1, !;B"

T
p

n,j = T p
n,j = 1, T

p

i,m = T p
i,m = 1,

4T
p

1,j − T
p

2,j − 3T
p

0,j

2hr
= 0,

4T
p

i,1 − T
p

i,2 − 3T
p

i,0

2hz
= 0, !;G"

4T p
1,j − T p

2,j − 3T p
0,j

2hr
= 0,

4T p
i,1 − T p

i,2 − 3T p
i,0

2hz
= 0,

p = k, k + 1/2, i = 1, 2, ..., n− 1, j = 1, 2, ...,m− 1.


&, -������� �5���*���� �5�*� !;A"8!;G" ��� 4�# ��� � -������I�* -�����
-������&�, 0��&����� H��-���*��� -�� 7�����������5 .���5 hr# ht �� ���I�K8
I���, ����� -� z# �� ���/ hz, hz/2, hz/4 (hr = 10−3, hz = 2 · 10−2, ht = 3 · 10−6)  
�������* ��%�&/���� 0��&������ H��-���*���� � ��0�� r = 0, 01# z = 25 � *�*���
���*��� t = 0, 5 @

Thz − Thz/2

Thz/2 − Thz/4

≈ 3, 52,
Thz − Thz/2

Thz/2 − Thz/4
≈ 3, 81.

��� � -�&�0����� ��.� ��%�&/����# ��� -���%���K� ������ -��,��� ��0��8
��� -� -���*����� z ���&���0��� ��%�&/���� 0��&������ H��-���*���� *�4��
-���%��/ � -� �����* -���*����* 


&, ���&�������, �����0������ �5�*� )�&� -�������� ��0��&���&/��� H��8
-���*���� � ��%&�0��*� .���*� -� ���* -���*����*# � �� ���5 �&�0�,5 �����0�8
����/ �5�*� ��5���,&��/ ��-��*��# � %���0�5# ��� ��H77�'���� ��-&�-�������8
��� !�&� ��H77�'���� ��77�%��" �0��/ )�&/.�, ��&�0���# H77���������/ ,����
�5�*� ��%�� -����� �%8%� ��&���, �����0������ !;?"# � � H��* �&�0�� '�&����)��%��
��-�&/%����/ *���� -���*����5 ��-���&���� 

����*�I����� H��� �5�*� 8 �� �)��&K���, �����0�����/ ����������* �5�*�
,�&,���, ����%*�4����/ �� �)�)I���, �� *����*����� �&�0�� � �&�4����/ ��8
����&���, -�����** �� -������� 

<� �(#"&����� !�:"#F9)9�

����������� 0��&����� ���&�������� -���%����� ��&/��K %�����*���/ ��%�&/8
����� �� ��&���, �0��� -����� H������ �� 7������� ��%)�4����, !�&� �� �������,
7���'�� ����0���� Ai(r, z, t) �� ��.���0��K -�������*�" 
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 CD

 ��� 	! "�)���������� ������)���� �� 
������ )�.��� �� �����#��� ������$��$�
�� ��� ?@ +� ' �� ��� ����* ���������� ����
 � ' ��� r = 25AB
 	 ' ��� r = 50AB, �
�#���) ��$)�� �����* 5���
�� ���� �� &����� +�, � ��� �#��� +�, � )�)��� ���)���
t = 6 · 10−15c�

�� ��� ? -�������&��� ��*-��������� %�����*���� -� �&�)��� *�.��� �&,
��%&�0��5 ������,��� �� ��� �� � �0���* -����� H������ �,4�&��� ���� �� 7���8
�� � )�% H���� �0��� 
% -�������&������ ������� �����# 0�� �0�� -����� H������
�� 7������� ��%)�4����, -������� � ��%��*� ����� ��*-������� � �&�)��� *�8
.��� !� �)&���� ��������� ����" 	0�� ��**����5 H�������0����5 -����/ ����
-��,��� ;= 1H� !���0�� -� -�����**� y|iu8C==? kEl"# ������� ��-������������
-�����K��, � ��.���0��K -�������*�# �-���)����, �� ���������K# ��%�� -����8
*��� ��*-������� � �)&���� �)&�%� %��� ��������� ���� !��� ? �# ��� A !&����
-��"" 

�)�#%&����

� ��)��� -�������&�� ���� �% *������ 0��&������ ��.���, ��������� *���8
*���0����� 7�%��� 8 ����0��8��%������� *���� � ��� -��*������ �&, ��.���,
��������� *���&� ���*�0������ -��� ��������&��� -�&�0����� ��%�&/���� ��8
�&�������, ��-&���5 -��'����� � ����&� -�� �)&�0���� ����*� ����� � H�������
<== 1H� � �0���* -����� H������ �� 7������� ��&�)���, ��-�&��� 0��&�����
���&�% �5���*���� ,���� ����0��8��%������� �5�*� ��0��&���� � *����� -���8
*����5 ��-���&���� �� -��*�����K 0��&����5 *������ *�4�� ���&��/ �&���K8
I�� ������@

; ��-�&������ ���0��� -���%�&� H77���������/ ,���� ����0��8��%�������
�5�*� ��0��&���� �� -������� �%8%� �p -������� � ��-�&/%������ -�� ��)&K�����
��&���, �����0������ !;?" 

C ����*�I����� *����� -���*����5 ��-���&���� 8 ��� �)��&K���, �����0�8
����/# � � ��� ������0���, �� .�� -� ���*���# � H�� -�%��&,�� H77������� ���
-��*��,�/ �&, %���0# ����� ,���, �5�*� ��H77������� �%8%� ������0���, .�8
�� -� ���*��� �� -�&�0����* ��%�&/����* 0��&������ ��.���, *�4�� ���&��/
�&���KI�� ������@

; 	0�� H�������0����5 -����/ �� ��%)�4����� 7������5 ��&�)���� -�������
� )�&/.�*� ��%�������K ��*-������� � �&�)��� *�.��� � �)&���� ��������� ����
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 ��� �! C�����)�#����$ ����������*
 �
����#����0�$ ���������( ��D�)
 � ������)
��)�������� ����� ��)�������� ��������$ �����$ � )�)��� ���)��� t = 1, 7 · 10−14c
+������( �������, � t = 3, 0 ·10−14c +��2��( ��������, � �#���) +�����, ������ 5���
��
�� &����� � ��� �#��� +������,� + ��)��� ��������
 �� ���* .����������( �������!
���)��� D = 280AB
 
������ Z = 16, 8 · 104AB,�

� ��%*��� �)&����# ��� ��*-������� *�.��� -����.��� ��*-������� -&��&���,
*������&�# 0�* � *���&�# ��� �� �0�����K��, H�������0����� -����� �� 7�������
��&�)���, 

C ��,�&����� ���*�&/��� -�������� ��*-������� � �)&���� ��������� ����#
������� ����� �� )�&� �)����4��� � �� -������%��� �������0����# ���)��� ��&/8
���.�5 ���&�������� ��� � -��*������* *���&� ���*�0������ -���# ��� � H��-�8
��*����&/��5 

��)��� ��-�&���� -�� 7��������� -�����4�� �99
# ������ � =E8=;8==CCB#
� =B8=;8==B==8�# � =<8=;8==<?B8� � � =G8=;8==<<=8� 

�=�'(� #�9�!)9"!�

k;l ������� 1 
 # (�7.�' 
 1 # ��������� ( � ���*��, L�����,# ;GDG# � E#
� ?G;8A=C

kCl �*��5���� 
 � # 
���� � 2 # +�*&,��, � � � �� ���/*� � LJ�3# C==E#
� ?# �;!;?="# � E?8<D 

k?l �*��5���� 
 � # 
���� � 2 # ���5���� 
 � �� ���/*� � LJ�3# C==E# � ?#
�D!;?A"# � B=8G; 

kAl �*��5���� 
 � # 
���� � 2 # ��%���� 
 � � �� LJ�3# C==E# � ?<# ��- E#
� ;DGC8;EAA 
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 C<

kDl �*��5���� 
 � # 
���� � 2 # ��%���� 
 � � �� ������5����/�# C==B# �D#
� ;8;= 

kEl �[OWX^Fx } v # z^\\Q^Wx � r �_FY iNXRW ^NU uORS [N vS`X |OX #;GB=# �;<A#
aa CD<8CEG !SRRa@ttPPP XW[Q TW\" 

k<l ��*������ � � �����, ��%������5 �5�* 1 @ �����# ;GB?# � CDB8C<E 

kBl ��*������ � � # ��&�� � � J��&����� *����� 1 @ �����# ;GBG# A?C� 

kGl ��*������ � � # ��)�I���0 � � ��0��&���&/��, ��-&�-�����0� 1 @ L��8
�����& 	���# C==?# <BA� 

k;=l ���0�� ( 
 ������ 0��&����5 *������ 1 @ �����# ;GB<# � C<<8CBA 

k;;l q_VT_W ] # v^_Q[OW c # eT_YOQTNUO u |^U[^R c� ^NU qOVOFRX [N yTY[UX ;GG?#
Z ;CE# a ;;G 

k;Cl f^Y[\TWXx[ u | v # z^QQ | � # �^Rj | �_FY eW^FxX ^NU |^U[^R uO^X ;GBE#
Z ;;# a ?=E8?;G 

k;?l �[RONXx` i y # q[Q[WOZ v # y_NUd_XR � � | �_FY iNXRW ^NU uORS [N vS`X |OX 
� ;GGB# Z BC# a ?DE8?E; 

k;Al �^ZY[NXx[[ �_ �_FY iNXRW ^NU uORS [N vS`X |OX � ;GGB# Z ;AE# � ;8A# a ;AC8
;AE 




